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QUESTION 1

An organization wants to dynamically adjust its application to serve different user needs. What are the benefits of storing
their data in the cloud for this use case?

A. Data can be stored in archive for long term access
B. Automatic data cleaning and validation

C. Real-time data ingestion and analysis

D. No data access management required

Correct Answer: C

By storing their application data in the cloud the organization will be able to gather and analyze user behavior data in
real-time. This will enable them to dynamically adjust their application for different user needs.

QUESTION 2

Which of the followings are core components of Anthos?
A. Infrastructure, container, and cluster management

B. Secure software supply chain

C. Multicluster and Configuration management

D. All of the above are correct.

Correct Answer: D

QUESTION 3

A large organization is struggling to manage their cloud costs effectively. They want to increase vis-ibility into cloud
costs. Which cost management approach should the organization use?

A. Establish a partnership between finance, technology, and business teams.
B. Appoint a single person to monitor cloud spending across the organization.
C. Review any cloud spending that exceeds the organization\\'s error budget.
D. Increase monitoring of on-premises infrastructure and services.

Correct Answer: A

Explanation: Because cross-team partnerships are part of the visibility cost management strategy.
https://wa.aws.amazon.com/wat.question.COST_1.en.html
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QUESTION 4

Your company provides car maintenance services. It is conducting an internal hackathon to identify new ideas that could
expand their business. The teams have pitched different ideas and have started working on it. They have to present
their application to the judges within 48 hours. A presentation alone is not enough; they have to demonstrate a working
proof of concept. The team that you are mentoring is going to recommend additional ser-vices to drive in customers
based on the brand of car they drive in. They need to be able to identify what brand of car the customer has, based on a
photograph automatically taken at entry. They have already discovered an open source database of car images
collected by online enthusiasts. How should they implement this solution?

A. Use Deep Learning Containers that are preconfigured and optimized containers for deep learning environments.

B. Use AutoML Image - upload the images and let it create a working model for you.

C. Use TensorFlow to create a model that will identify the car brands; use the available data to train the model.

D. Use Cloud Vision Al that is able to detect logos. Write only the code to integrate in-to your workflow.

Correct Answer: B

It would be most straightforward to use AutoML Image. Put the images in Cloud Storage, point to it from AutoML, and
start the model building process. Reference Link- https://cloud.google.com/automl

QUESTION 5

A customer has contacted you about migrating to Google Cloud. The customer would like to mi-grate their data from on
premises as soon as possible. They don\\'t have the budget to rewrite code, and they want the most direct route. What
migration option should suggest to the customer?

A. None, since the customer is not cloud native ready.

B. Rip and Replace

C. Lift and Shift

D. Improve and Move

Correct Answer: C

Explanation: With Lift and Shift migrations, the customer could move workloads from a source environment to a target
environment with few or no modifications or refactoring
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Lift and shift

In a lift and shift migration, you move workloads from a source environment to a target envirenment with minor or no
modifications or refactoring. The modifications you apply to the workloads to migrate are only the minimum changes you
need to make in order for the workloads to operate in the target environment.

A lift and shift migration is ideal when a workload can operate as-is in the target environment, or when there is little or no
business need for change. This migration is the type that requires the least amount of time because the amount of

refactoring is kept to a minimum.

There might be tecknical issues that force a lift and shift migration. If you cannot refactor a workload to migrate and
cannot decommission the workload, you must use & lift and shift migration. For example, it can be difficult ar impossible
to modify the source code of the workload, or the build process isn't straightforward so praducing new artifacts after
refactaring the source code might not be possible.

Lift and shift migrations are the easiest fo perform because your teem can continue to use the same set of tools and
skills that they were using before. These migrations also support offthe-shelf software. Because you migrate existing

workloads with minimal refactoring, lift and shift migrations tend to be the quickest, compared to improve and move or
remove and replace migrations.

On the other hand, the results of a lift and shift migration are non-cloud-native workloads running in the target
environment. These workloads don': take full advantage of cloud plstform features, such as horizontal scalability, fine-

grained pricing, and highly managec services.

https://cloud.google.com/architecture/migration-to-gcp-getting-started
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